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ox?  Oy? 022



5 Jubbbboboobobobboooobobbbbooobb

god2000000000000000000O000DOO0O0DOOOOOOOOOODOOOOOOOOO0O0Od
gboooooboooooobooboooonog

z0O0O:
ou ou ou 10p v 0%u
w4yl =g, - =22 SAL 5.1
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00000 (6.3) 00000000000 C, 00 C,O00D00O0OO
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v_dy
Y dz
X Y
—_— = 8.1
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0000000000000 0000000000000000000000 (pathline)D0OO0O0O0OOOOO
ooooog

e i (8.3)
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oboooooobooboobooobooboboboooboboooooboboooooobboboobOOobOon 000
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obooooobooooooobono
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oobooobooboooboooboooboooooboooobo roooboboooboooboooboooooobooogoon
0000000000000 0000 S00000000000000000 ABCDOOOOO oo (12.1)
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gooC01-20000 A000000BOOOOOOOOOOOODODOODODOOODOODODODOOOOOOOO
ocooooocooooooooooboooOooooooooooooOoOobboOoOoooo cogooooDoon
obooooobooooog

F:/AF:/ 2. dzdy (12.4)
C C
gboboobooboooooobooboboooooboobooon

oo0O1ooooooOoOoOoOoOOOOO0OO0O0O0 x000000u=Az+By0000O0OOOODODODODO
gboooooboooobooboo

1. yOOOOoO00000

2. 0000000O000O00O0OC0OOO0OOO0OOOOODbOOn
. 000b0oboooocooooobooon

4. O00OO0O0OOO0OOO0oOooOOobOoooon

goo

1. 0000000000000 0000000000O00O00U00 du/ox=A0000000000000
obooooooooooon

v
= A (12.5)
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W(z)=¢+i (14.1)
O00000000000000 W(2)O0OO0OO0OO0OOOOO (complex potential) 10000000
z=x+1iy (14.2)

0000:000000000000 1410000000(x,y) 000000 (0OO0O0O 200000)0 (r,0)
oboooooobooooooobono

z =rexp(if) = rcosf +irsiné (14.3)
x=rcosf, y=rsinf (14.4)
AY
Z=x+iy

(rcoso, rsind)
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